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1. (a) What are large scale industries ? Explain the importance of large scale industries in

India. 7
OR
Explain the importance of small scale industries in India.
(b) Explain the importance of private sector in India. 7
OR

Give limitations of public sector in India.

2. (a) Explain importance of transportation in India. 7
OR
Give contribution of service sector in national income and employment in India.
(b) Mention some important measures undertaken by the Government of India to

improve the condition of unorganized sector. 7
OR
Explain the contribution of unorganized sector in national income and employment
in India.
3. Write short notes : 16
(1) The contribution of industries in employment in India.
OR

Explain in brief, the use based classification of industries.
(2) The contribution of public sector in national income and employment in India.
OR
Give limitations of private sector in India.
(3) Explain the progress of energy sector in India.
OR
Explain the progress of telecommunication sector in India.
(4) Describe the problems of unorganized labourers in industrial sector.
OR
Explain the characteristics of unorganized labourers of agricultural sector.
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4.

Answer in short (any six) :

(1) What is cottage industries ?

(2) What are large scale industries ?

(3) Give meaning of infrastructural industries.
(4) What is meant by public sector ?

(5 What is meant by service sector ?

(6) Define Indian agricultural labourer.

(7) Give economic activities of primary sector.
(8) Give meaning of “‘unorganized sector’.

Choose the right answer :

(1) Industries are classified in types.

(@ two (b) three (c) four
(2) Economic Reforms in India have taken place since Industrial Policy.

(@) 1980 (b) 1991 (c) 1995
(3) Main components of infrastructure are :

(@) three (b) four (c) five
(4) Investment limit for tiny units is .

(@ 10 lakh (b) 20 lakh (c) 25Ilakh
(5) Public enterprises in India were in 1951.

(@ five (b) seven (c) nine
(6) enterprise of public sector has been identified as Navratna of India.

(@ Indian Oil

(b) Indian Petrochemical

(c) Videsh Sanchar
(7) sector is necessary for the welfare of public.

(@) Private (b) Public (c) Joint
(8) is the biggest public enterprise of Government of India.

(@) Railway (b) Telecom (c) AirIndia
(9) Transport system is classified in types.

(@ three (b) four (c) five
(10) The new telecommunication policy was implemented in :

(@) 1994 (b) 1997 (c) 1999
(11) Civil Aviation Department was established in the year

(@) 1927 (b) 1930 (c) 1940
(12) In India the Minimum Wages Act was implemented in .

(@) 1948 (b) 1952 (c) 1970
(13) Acts of social security are applicable to workers.

(@) unorganized sector

(b) organized industries

(c) small scale industries
(14) The investment in organized industries is .

(@ big (b) medium (c) less
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